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Crossword Numbers 3 is like doing a regular crossword but with

10x10 puzzle grids

6 Google slides

numbers instead of words. This is an amazingly fun way to make math
seem like play. The crossword 'clues' are math sums you have to
complete in the grid itself. Work your way around the grid until all the
sums are solved. There are dedicated worksheet puzzles for each type
of operator (+, -, x & +) as well as a bonus extra worksheet with mixed
sums featuring a combination of all the operators. An answers sheet is
also included to show you where all the numbers go. All the Cross
Number task cards in this set are 10x10 grids, with more challenging

sums to complete.
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ADDITION  axos
1. 1000 + 203 22. 4033 + 4012
—T—T — T 4. 50+ 164 23, 268 + 238
5| 7. 70 +36 24, 23+19
| | 8. 14+14 27. 55+ 36
7 R 0 1 10. 122 + 56 29. 1270 + 856
12. 14+6 30. 14+5
- 5 = 13. 2989 + 134 31. 128 + 128
14. 11+ 30 33, 21+19
: : 16. 6+4 34, 688 + 134
15 16 17 18. 174 + 48 35, 246 + 96
20. 570 + 560 36. 1024 + 1024
18 19 20 21
22 23 DDWN
1. 53+47 19. 18+7
= 2. 17+9 20. 8+7
* PP R 3. 2818+ 393 21. 28+8
I 8 _ 5. 7+4 22. 4096 + 4096
a7 2 20 £ 6. 320+ 154 24. 251 +163
7. 88+32 25, 2084 + 219
31 I3z 33 : g =
SUBTRACTION Ackoss
1. 3387-259
T 1 ¢ B b a3 =5e
- 7. 494 -280
B ' 1 B T
7 8 9 10 111 10. 1434 - 1020
12. 368 - 348
- i 13. 5131-2008
® 8 e 14. 266 - 237
| 16, 207 - 189
15 16 17 18. 403 - 258
_ 20. 2103-83
18 19 20 21
22 il DOWN
1. 492-182
e 2. 101-87
| = 3. 8284-73
5. 163-89
7 28 29 30 6. 525-213
7
: 14
-38
- 2441
M U LTI P LIC ATI O N ACROSS 000 - 1946
1. 4x1048 22, 5x 1111
——T—— ——— 4. 3x121 23. 13x16
| 7. 2x71 24. 3x5
| | 8. 3x4 27. 4x7
7 R 10 1 10. 3x94 29. 20 x 101
12. 2x 31 30. 3x33
- = - 13. 20 x 62 31. 2x101
@ @ L 14. 3x21 33, 5x16
: : 16. 4x22 34, 2x103
15 16 17 18. 3x 221 35, 8x35
20. 4x511 36. 3 x 1021
18 19 20 21
22 23 DOWN
1. 17x26 19. 5x7
: - - 2. 2x6 20. 2x11
* F & 3. 28x76 21. 6x8
B N _ 5 2x31 22. 2 x 2661
7| 20 £ 6. 2x193 24, 9x12
7. 12x14

43 x 121

12!
20.
21,
22.
24.
. 5631-108
26.
28.
30.
32.

. 90-60

. 2617 -174

219-67

. 414 - 389
. 3111 - 3027

1627 - 72

. 3837-3517
. 206-69
. 353 -291

1284 - 1006

. 208-17
. 3330-29

70-17

77 -56
131-109
2338 - 257
512 - 256

325-17
2789 - 2358
603 - 333
247 - 168

31 132 33

T DIVISION
1. 4404 =4
1 2 i I 4 5 6 & Jap=d
i 7. 512+4
8. 242+ 11
T 1 m w | 10, 1505+5
12. 744 <12
5 o - 13. 408+ 4
& @ ” 14. 5100 +5
I 16. 186 +6
15 16 |17 18. 1320+5
| 20. 3099 +3
18 19 20 21
29 23 DOWN
1. 2074 =17
: . 2. 504 +28
* ® 3. 7218+6
) » 5 966 +42
27 |28 129 30 6. 2142+7
7. 2016+12
1768 = 8
3909 = 3
MIXED ACROSS
1. 3936 + 326 22. 8034 + 1487
. > - — " = G 4. 3x107 23. 1870- 1246
fi 7. 1689-1286 24. 1168+ 16
| 8. 114+6 27. 8x12
7 8 9 10 1 10. 448 + 284 29. 8372+4
12. 1120+ 14 30. 2618+ 77
= - — 13. 5x665 31. 697 +226
14. 252+ 14 33. 945 -853
- - : 16. 608 - 567 34. 8x53
15 18 |17 18. 189+ 172 35. 3330+6
20. 6586 «2 36. 9419 - 6086
18 19 20 21
22 23 DOWN
1. 16x25 19. 2849 + 259
TS 2 2691+117 20. 1296 + 36
3. 1985+ 189 21. 2741 - 2657
B 5 5. 1512+ 56 22. 909+ 11
27 28 29 30 6. 729-860 24. 258 + 451
7. 3374+7 25. 8999 - 5076

. 8044 - 4

3624 + 12

. 525+25
. 2304 + 48

9270+ 3

. 144 +86
. 4710 +15
. 180+9

738+6

. 5368 = 11
. 4092 +4

1066 + 26

. 1625+ 125
. 1024 + 32
. 6129+3

. 2222+ 11
. 7604 +4

. 1215+5

. 5698 =7

. 2676 +12
. 4608 + 96
. 1956 + 163

33

'35 36

addition

[2To]a B 2]1]4]

- 44

AR BEHE E
1

-

2 1

L]
= AN W

subtraction

[3[1]z2]s

|8 2[1]a 2
B BE
o] (ellzIN
[o] WM1[4]5

2443

1 d B AEB

9| [8l41]5]5

2| [1]z[7E]z2

B

@ N W

1]7]

3,

2
1

& 0O W

4

w

Visual Learnin

3 £
1 ]
2

-~ N LR,
@ o w

olawo|s
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	3: 10x10

